a2

S5 FEMARHEREIZONT
% A 10,383,603 [
B OH 9,872,710 [
=LBlZ 510,893 1 (REE~DH#EY ML)
RADER (BEfz : 1)
TEE s e
PR s T aem [ vamm | o0 e "=
EHE&EE (88
&184 | 10,054,000 0| 10,054,000 7,694,500 A 2,359,500|4:10,054,000 %8
4£2,359,500)
S0 5 FE A
s 0 0 0| 2,359,500 2359500| o AR B
T EE/mBE (Mg
HEBABTEE)
Bie 300,000 300,000] 329,597 29,597 |BFEE N O DR S
SN 0 0 0 6 6|hE B
& =t | 10,354,000 0 10,354,000] 10,383,603 29,603
R D ER (Bf : /1)
THE%E s e
PR oE wee [ vEmm | o o =
. ZERH. EERA
LT 508,000 0| 508000] 279,330 A 228670 _
BRMK
£ 103,000 0| 103,000 89,380 A 13,620 AR
oA F HOR!
N Wi/ S B EHE
=3 9,738,000 0| 9,738,000 9,504,000 A 234,000
TE
S 5,000 0 5,000 0 A 5,000|18%
& =t | 10,354,000 0| 10,354,000 9,872,710| A 481,290 >10,893F
REE Gk
XA%DBEFﬂﬁi@Zi\\i@’ BREAHMITUEREEHYE MEAHRERAETSEE) DI OV TIL

BT

EBZ1T),




oM 5 EE FEHETHIRALSRAE SR ERES

.

RESEEB IR A IS B A # A O N B R ERH 2R L - k5,

H{:

H

15 4

WIND EHELOBIEIKRITE R TWE I 2D T,

oM 6 & 6 H 3 H

BEA 4 E a K (G

BEA N FT g




